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runtime — 1.00x
peak mem — 1.13x
peak disk 1.06x
Result
. Pass
latency—set (95th) 1.03x
latency—get (95th) — 1.02x
drain rate — 2.51x
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201-170 2.0.2-772

Runtime (in hr) 2.31 2.31
Avg. Drain Rate 1.46K 3.66K
Peak Disk (GB) 22.87 21.49
Peak Memory (GB) 33781.14 29831.95
Avg. OPS 5.91K 5.32K

Avg. mem memcached (GB)  26408.07 24740.2
Avg. mem beam.smp (MB) 6993860.31 5127892.34

Avg. CPU rate (%) 41.01 37.69
Latency-get (90th) (ms) 2.91 2.88
Latency—get (95th) (ms) 4.02 3.93
Latency—get (99th) (ms) 8.13 8.26
Latency-set (90th) (ms) 3.16 3.06
Latency-set (95th) (ms) 4.22 4.11
Latency-set (99th) (ms) 8.1 8.45

Latency—query (80th) (ms) NA NA
Latency—query (90th) (ms) NA NA
Latency—query (95th) (ms) NA NA
Latency—query (99th) (ms) NA NA
Latency—query (99.9th) (ms) NA NA
Avg. QPS 0 0
Avg. XDC ops/sec NaN NaN
Avg. XDC docs to replicate NaN NaN
Rebalance Time (sec) 428.02 563.04
Testrunner Version 4a2b75f 95e8c41
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